Subject: Re: Draw widget mouse position error
Posted by Rostyslav Pavlichenko on Tue, 15 Aug 2000 07:00:00 GMT

View Forum Message <> Reply to Message

Oliver Smith wrote:

>

> I'm certain I'm not moving the mouse. The final y value (2nd release event)
> is the same as the first two, so the mouse would have to move for the second
> press, then move back to the original position for the second release. |

> don't see the cursor move at all on the screen.

>

> As for the coffee theory, | do have one of those oversized RSI mugs....

>

> Can anybody else running IDL 5.x under NT recreate this? (see original post
> for code).

>

> Regards,

>

> Oliver

>

> "Martin Schultz" <martin.schultz@dkrz.de> wrote in message

> news:39941513.FC29E9D@dkrz.de...

>

>> Hi Oliver,

>>

>> don't see any such behaviour (IDL 5.3 on Linux) except if | really
>> move the mouse wildly between the two clicks. Too much coffee ?

>> Cheers,
>> Martin
Hi Oliver, Martin

On my W2K, IDL 5.3.1 | got SSDD (Same Shit Different Day)...

To be 100% correct not every time...
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As you see 3/12=25% of the coorect behaviour. | am using MS IntelliMouse
Explorer USB mouse, if this info helps you... It was done with "ordinary
care";

for "supergentle pressing” the results are differnt
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12/12 = 100%

So | think driver-mouse sensitivity is the key to your question...

Best regards,

Dr Rostyslav Pavlichenko

Research Center for

Development of Far Infrared Region
Fukui University

Bunkyo 3-9-1, Fukui 910-8507 Japan
phone: [+81] 776 27 8972

fax: [+81] 776 27 8752

fax: [+81] 776 27 8750

mailto:slavik@maxwell.apphy.fukui-u.ac.jp
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